B4R WEI=AR b R—)VEERY I —KRE (BTF)

HE¥ 4 F—A
[1-2-3[E%] 20234 7TH SH (L) KEGHREAEE [#e 2 il 20234 7TH 16H (H) BEKMIAE
[3IlEk] 20234 7TH 9H (H) KEBEASEER OiEpzgeseie] 20234 7H 170 (B) BKEEE
(4] 20234 7TH 15H (+) BERMEAER (gl - 5] 20234 7H 17H(H) BEREKEH
mEN 1 23
150 150
K B 2 SH B A5 B A7 [sm #
5o 3 AD2 | N N kK D4 25
B = K A6 K A7 - 2%
RAV743 5 ke e 7
. 16H 160
w6 ] B A3 B A4 [so 28
N X D5 K B4
M Ht b 7 —sg | SH 29
FECr g KAl l?lil kCT - 5
Koyo 9 1;557 A A4 31
8A 150
L 0 —35 k C5 B B5 32
;A 11 &
a2 16H 170 170 16H 33
A6 | K A2 170 B2 | KiB6 15H 34
% A6 A8 8H
SHINO 13 A B5 3
b 14 8H 1;556 1??:1 EE 3
J8. & 15 Aas | 8H 37
k B6 8H
X Ik 16 sa | ka5 [so o8
%o A5 16H 16H LE2 3
. . B3 | B B4
Neng—=2 18 SR | 3MIE [sn 40
F771 19 k C3 N 17H # B6 N K B2 i
Baw 2 - k C6 | A D6 - 12
A D3 15H SPLPE 15H X A2
N A 21 & B6 17H K& A4 % B8 3
Y 22 44
|
TRERE
17H H B4

VAR b 228

(]
ok
OBBC

(LR
H oA

B7LU X

BRI
PHER

PEEHSE

747 B

ALY

I



¥ 27 F—A

(1-2H18] 20234 7TH 9H (H) KEAEAEER

BAOEl I ART RN EBFHY—K& (&)

(3] 20234 7H 15H (1) BEREEEM

T W
FHEBR

B A8

il
141
i1

THJr

Jnse i
& % B
(I

o]
%

TAT G

10

11

12

13

14

17H
B Al

(% k] 20234 7TH 16H (H) KERBEAER
Ulihrgesei] 20234 7TH 17TH (H) BEREEIAER
CREDRs - DUE] 20234 7TH 17TH(H) BERMEIEFE A

17H
B A5

15H
B A1
9H
9H K A4
X C2
16H
K Al
9H
X B3
15H
% B1
160 |
B A5 |
15H
K A2
9H
9H K A5
X B2
16H
% B1
9H
X A3
15H
B B2

1A |
WBI1 |

3hkE
17H i B5

LY 1VA7 S
17H K A3
ThEPERE
17H # B3

15H
K A3
9H
A B4
16H
1 A2
9H
A C4
15H
k& B3
16H
k& B5
15H
1 A4
9H
A C5 9H
K A2
16H
& B2
9H
X C3
15H
B B4

15

19

20

21

22

23

24

25

26

27

B
Pef—T IV A

Hi o3

B7L X

BRILIZRE

H #r

PHESE

NPHERE

OBBC

i 0 11
5w

1
Iall\

ﬂll'i



40l RKEI= AR IR—IVEEHEY~— K& e F)

20234 7H 9H(H)

2% ¢ KBHPEAFH

Aa—+ Ba—+ Ca—+
rRJr vs N B’ vs A | vs  PRILIVREL
% 10 — 10 = 15 — 26
I 45 - | 3 7 % gy
13 — = 1 — 22
16 — 22 — 23 — 12
WPHERE s OBBC el 7 vs LAY L vs Y
» 4 - 26 6 — 10
o — 1 . — 1
w19 182 || o R 20 || 23| °® ° 1 51
2 — 18 6 — 12
8 — 19 2 — 13
#® Vs wEk ®nIo Vs Jr 5 2 Vs 5. 3 %
w 23 - g8 - 6
ak 2 — . 2 —
>l o | ?® 25 || 0 RERS 20 || 62 | % ® | 18
20 — 22 — 4
20 - 13 12 — 2
PEEAR Vs e W vs  HWeAf—=TI A b A vs B7L YA
" 9 - 16 4 - 31
B — 14 .- -
> 13| 8 56 0 R 20 || 17| 3 301 107
10 — 8 2 — 28
11 — 18 8 — 18
% 2Bt vs (S vs IEBSE s OBBC
w 17 - 3 = 4 - 24
Rl | 2~ T3 - 27 | 2 T 23
15 — 12 = 2 — 16
8 - 9 — 16 - 8




